Hubble’s Constant

The discovery of the linear relationship between redshift, interpreted as recessional velocity, and distance yields a straightforward mathematical expression for Hubble's Law as follows:


where

· v is the recessional velocity, typically expressed in km/s.

· H0 is Hubble's constant and corresponds to the value of H (often termed the Hubble parameter which is a value that is time dependent) in the Friedmann equations taken at the time of observation denoted by the subscript 0. This value is the same throughout the universe for a given comoving time.

· D is the  distance from the galaxy to the observer, measured in mega

 HYPERLINK "http://en.wikipedia.org/wiki/Parsec" \o "Parsec" parsecs (Mpc).   (For us, a megaparsec is just a long long way.  You can look it up if you want.)
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